Construction division. dvice for giving code to contractory/dea

M. No stir bills Heriotar	193	, 7		- 100	6	17/	2/23	
Congrany Montes :		MZZP	Bilder		an in standard an	GM	CALIFORNIA AND AND AND AND AND AND AND AND AND AN	-
Menne of Carriensing			Mahen	ler Kup	al GI			7
Minano tel week:	-	. floor	ring q	Baths	Loom	July i	n G-40394	04
81 Wala Stated	Pierre D		5.01.2	023		10.	02-2023	
Aller.		. Ra	S0	Units	ATEG		Cashanan bill 20	
10Wald 6 - 402 81	404		1		NAN SAMA ANG ANG ANG			Porting of the local district of the local district of the local district of the local district of the local distribution
2'X4' Hooring	1							And and a second second
DISUA 1360 817 (64) 18	a second of the second of the second of the	6	SIF	and the second design of the s	152.		
Skilling 187 (200 Sty Per Join	1 4	A DESCRIPTION OF THE OWNER OWNER OF THE OWNER OWNER OF THE OWNER OF THE OWNER OWNE	6	RFF	which do not the state of the	840		
Constr Per []	2		8	8/1	Contractor of the second s	400		
RevAl3608+CA		All the state of the	18	SF7 SF7	No of the other participants of the	380. 288		-
Skilling 18"		The first state of the second	-) H	REF		288		nintin Rueg
9 .		10.00			- /	00		No. of Concession, Name
M					in strangenetos	tang pananga tang barkar		
The suggested	itald				63,5	the Data day was a data of the statement		
Manaparan &	O YES			hil soçè		DYES		
Contract in the second	D Reize		Man			0 State		The state of
PC/IND ID.	and the state			10 dates		UNITE		
Banada :	A	ll works	Johe	an sound and the second	-			and a strategy and a
			avig		a			
					TROSENSA AMAGAMAN			
							an a	
	4							10 State
Aggreened by Project Mar	NOT I	Approved	by Dad	e free	Age	served by	MA	
	d	Bata	Link Dummillin Desigt high		Det	the little is an in the second second		
								7

Mater 1. Not address scattlanders: utilities 7 args adversativities work. 1. Web from an its cand for and its barrier tills, black for the designs, work work, textbey also assessments. 2. We some use applicable -- fill Min. 4. Refereds and compressions adverse thereits are not explicit for tenders the where guideling onto use during gives.

ESTIMATE SHEET							
Company Name:	MRMLLP					Approved by Ramprasad	Ramprasad
Project:	Gulmohar Residency					Sign:	
Work Description:	Flooring and Bathroom tiles in G-403 & 404 flat	n G-403 & 404flat					
Contractor Name:	Mahendra kumar Gujjar						
Prepared By	Nagendar						
Date:	13.02.23						
S No	Item Head	Item Description	Ouantity	Units	Rate	Amount	
1	1 G-403 & 404	SBUA 1360sft(67%)	1822.00	Sft	16.00	29152.00	
	2'x4' flooring	Skirting 18%	490.00	Rft	16.00	7840.00	
	2'x4' Skirting	(200 sft per toilet)	800.00	Sft	18.00	14400.00	
		(80 sft per flat)	160.00	Sft	18.00	2880.00	
		SBUA 1360sft(67%)	1822.00	Sft	4.00	7288,00	
		Skirting 18%	490.00	Rft	4.00	1960.00	
						63520.00	

MEASUREMENT SHEET	SHEET							
Company Name:	MRMILLP					Approved by:	Ramprasad	
Project:	Gulmohar Residency					Sign:		
Work Description:	Flooring and Bathroom tiles in G-403 & 404flat	in G-403 & 404flat						
Contractor Name:	Mahendra kumar Gujjar							
Prepared By	Nagendar							
Date:	13.02.23							
			A	в	C	D	E= AxBxCxL	F
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units
-	G-403 & 404							
	2'x4' flooring	SBUA 1360sft(67%)	911	1.00	1.00	2.00	1822.00	Sft
	2'x4' Skirting	Skirting 18%	245	1.00	1.00	2.00	490.00	Rft
		(200 sft per toilet)	200	1.00	1.00	4.00	800.00	Sft
	Kitchen&Utility	(80 sft per flat)	80	1.00	1.00	2.00	160.00	Sft
		SBUA 1360sft(67%)	9-11	1.00	1.00	2.00	1822.00	Sft
		Skirting 18%	245	1.00	1.00	2.00	490.00	Sft

Bill for labour charges

Mahendra kumar Gujjar, Mallapur, Hyderabad.

Date: 13.02.23

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur

Type of Work:Tiles FlooringTowards:Allowance for labour charges.

S No.	Description	Amount
1.	Brief description of work done: Towards G-403 &404	
	flat tiles work .	Rs.25408/-
	Total Amount = $63520/-$	
	Work done from date 15.01.22 to date 10.2.23	

Amount in words: Twenty five thousand four hundred eight Rupees Only.

Sign wohendur

1

-

L

Bill for Equipment Allowance

Mahendra kumar Gujjar, Mallapur, Hyderabad.

Date: 13.02.23

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur

Type of Work:Tiles FlooringTowards:Allowance for equipment.

S No.	Description	Amount
1.	Brief description of work done: Towards G-403 &404	
	flat tiles work .	Rs.25408/-
	Total Amount = $63520/-$	
	Work done from date 15.01.22 to date 10.2.23	

Amount in words: Twenty five thousand four hundred eight Rupees Only.

Sign mothen byt

Allowance for Consumables

Mahendra kumar Gujjar, Mallapur, Hyderabad.

Date: 13.02.23

In favor of:MRMLLPProject / Site:Gulmohar ResidencyLocation:Mallapur

Type of Work:Tiles FlooringTowards:Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Towards G-403 &404	
	flat tiles work .	Rs.12704/-
	Total Amount = $63520/-$	
	Work done from date 15.01.22 to date 10.2.23	

Amount in words: twelve thousand seven hundred four Rupees Only.

Sign mother 18th

EASUREME